

Estratto da

C. Bernardi e P. Pagli (a cura di), *Atti degli incontri di logica matematica*
 Volume 2, Siena 5-8 gennaio 1983, 6-9 aprile 1983, 9-12 gennaio 1984, 25-28
 aprile 1984.

Disponibile in rete su <http://www.ailalogica.it>

COMPLEXITY OF REDUCTION TREES IN PREDICATE CALCULUS

Carlo Cellucci

1. The strong normalization theorem for predicate calculus asserts that any reduction sequence starting from a derivation \mathcal{D} stops at a normal derivation \mathcal{D}' . The most intuitive proof of this result uses Prawitz's concept of valid derivation [4]. By König's lemma and a choice principle the strong normalization theorem is equivalent to the stronger assertion: there exists a function f such that the length of any reduction sequence starting from a derivation \mathcal{D} is $\leq f(\mathcal{D})$. However the standard proof of strong normalization does not provide information about such a function f . On the other hand Minc's proof [3] for the (\rightarrow, \forall) -fragment or Schwichtenberg's proof [5] for the \rightarrow -fragment yield a primitive recursive and an \mathcal{E}^4 bounding function f , respectively. In this note we give a more explicit f in \mathcal{E}^4 for the full $(\perp, \rightarrow, \forall)$ -based classical predicate calculus using Gandy's method [1] as formulated in Girard [2]. Proofs are omitted for lack of space.

2. We consider formulae of predicate calculus built up from arbitrary parameters a_0, a_1, \dots , variables x_0, x_1, \dots , constants m_0, m_1, \dots , n -ary function symbols f_0^n, f_1^n, \dots , n -ary relation symbols R_0^n, R_1^n, \dots and logical symbols $\perp, \rightarrow, \forall$. The length of a formula A , $lh(A)$, is the number of atomic formulae and logical symbols in A .

The (natural deduction) rules for predicate calculus include $\rightarrow I, \rightarrow E, \forall I, \forall E$ and the classical falsity rule:

$$[(\neg A)]$$

$$\perp_c \frac{\perp}{A}$$

for arbitrary A . The length of a derivation \mathcal{D} , $lh(\mathcal{D})$, is the number of inferences in \mathcal{D} .

Proper redundant formulae in a derivation \mathcal{D} are conclusions of I -inferences which are major premises of

E-inferences. Improper redundant formulae are conclusions of \perp -inferences which are non-atomic or of the form \perp . Normal derivations are derivations containing no redundant formulae. The reduction rules include (A) proper reductions: the usual \rightarrow -reductions and \forall -reductions; (B) improper reductions: $\perp \rightarrow$ -reductions and $\exists \forall$ -reductions for \perp -inferences with non-atomic conclusions (see [4]) and $\perp \perp$ -reductions (suggested by P. Martin-Löf):

$$\begin{array}{c} [(\neg \perp)] \\ \mathcal{D} \\ \perp_c \perp \\ \text{red} \end{array} \rightarrow I \frac{\perp}{(\neg \perp)} (1) \begin{array}{c} (1) \\ \mathcal{D}' \\ \perp \end{array}$$

We write $\mathcal{D} \succ_1 \mathcal{D}'$: \mathcal{D} immediately reduces to \mathcal{D}' , and $\mathcal{D} \succ \mathcal{D}'$: \mathcal{D} reduces to \mathcal{D}' . The length of a reduction sequence is its number of elements.

3. We extend the rules of predicate calculus by introducing the following new axiom schemata:

(Ax1) $A \rightarrow \forall x_1 \dots \forall x_n (R_i^n(x_1, \dots, x_n) \rightarrow R_i^n(x_1, \dots, x_n))$

(Ax2) $A \rightarrow (\perp \rightarrow \perp)$

(Ax3) $\forall x_1 \dots \forall x_n (R_i^n(x_1, \dots, x_n) \rightarrow R_i^n(x_1, \dots, x_n))$

(Ax4) $\perp \rightarrow \perp$

for arbitrary A and R_i^n . In derivations instances of axiom schema A are denoted by \overline{A} . E-derivations are derivations in this extended sense. Clearly any E-derivation can be transformed into a derivation in the usual sense.

For arbitrary A and atomic P we introduce E-derivations:

$$\begin{array}{c} (2) \\ (A) \\ \mathcal{B}_{A;P} \\ P \rightarrow P \end{array} , \quad \begin{array}{c} \mathcal{B}_P \\ P \rightarrow P \end{array}$$

as follows, where assumption class (A) contains a single element.

$$\mathcal{B}_{A;R_i^n}(t_1, \dots, t_n) =$$

$$\begin{array}{c} (2) \\ \frac{A \quad A \rightarrow \forall x_1 \dots \forall x_n (R_i^n(x_1, \dots, x_n) \rightarrow R_i^n(x_1, \dots, x_n))}{\rightarrow E} \text{Ax1} \\ \frac{\forall x_1 \dots \forall x_n (R_i^n(x_1, \dots, x_n) \rightarrow R_i^n(x_1, \dots, x_n))}{\forall E} \\ \frac{\forall x_2 \dots \forall x_n (R_i^n(t_1, \dots, x_n) \rightarrow R_i^n(t_1, \dots, x_n))}{\vdots} \\ R_i^n(t_1, \dots, t_n) \rightarrow R_i^n(t_1, \dots, t_n) \end{array}$$

$$\mathcal{B}_{R_i^n}(t_1, \dots, t_n) =$$

$$\begin{array}{c} \frac{\forall x_1 \dots \forall x_n (R_i^n(x_1, \dots, x_n) \rightarrow R_i^n(x_1, \dots, x_n))}{\forall E} \text{Ax3} \\ \frac{\forall x_2 \dots \forall x_n (R_i^n(t_1, \dots, x_n) \rightarrow R_i^n(t_1, \dots, x_n))}{\vdots} \\ R_i^n(t_1, \dots, t_n) \rightarrow R_i^n(t_1, \dots, t_n) \end{array}$$

$$\mathcal{B}_{A;\perp} = \rightarrow E \frac{(2) \quad \frac{A \quad A \rightarrow (\perp \rightarrow \perp)}{\text{Ax2}}}{\perp \rightarrow \perp}$$

$$\mathcal{B}_{\perp} = \frac{\text{Ax4}}{\perp \rightarrow \perp}$$

For arbitrary A and B the expanders:

$$\begin{array}{ccc}
 (1) & (2) & (1) \\
 (B), (A) & & (B) \\
 \mathcal{A} & & \mathcal{A} \\
 A;B & & B \\
 B & , & B
 \end{array}$$

are defined inductively as follows, where assumption classes (A) and (B) contain a single element and three elements, respectively.

(i) If P is atomic, then:

$$\mathcal{A}_{A;P} = \frac{\frac{\frac{(1) \quad \mathcal{B}_{A;P} \quad \mathcal{B}_{A;P}}{\rightarrow E \frac{P \quad P \rightarrow P}{P}} \quad \mathcal{B}_{A;P}}{\rightarrow E \frac{P \quad P \rightarrow P}{P}} \quad \mathcal{B}_{A;P}}{\rightarrow E \frac{P \quad P \rightarrow P}{P}}$$

$$\mathcal{A}_P = \frac{\frac{\frac{(1) \quad \mathcal{B}_P \quad \mathcal{B}_P}{\rightarrow E \frac{P \quad P \rightarrow P}{P}} \quad \mathcal{B}_P}{\rightarrow E \frac{P \quad P \rightarrow P}{P}} \quad \mathcal{B}_P}{\rightarrow E \frac{P \quad P \rightarrow P}{P}}$$

(ii)

$$\mathcal{A}_{A;C \rightarrow D} = \frac{\frac{(3) \quad (1) \quad (2)}{\rightarrow E \frac{C \quad C \rightarrow D}{(D)}, (A)} \quad \mathcal{A}_{A;D}}{\rightarrow I \frac{D}{C \rightarrow D}} \quad (3)$$

$$\frac{(3) \quad (1)}{\rightarrow E \frac{C \quad C \rightarrow D}{(D)}} \quad \mathcal{A}_D$$

$$\mathcal{A}_{C \rightarrow D} = \rightarrow I \frac{D}{C \rightarrow D} \quad (3)$$

(iii)

$$\frac{(1) \quad (2)}{\forall E \frac{\forall x C(x)}{(C(a))}, (A)}$$

$$\mathcal{A}_{A; \forall x C(x)} = \forall I \frac{\mathcal{A}_{A;C(a)} \quad C(a)}{\forall x C(x)}$$

$$\frac{(1)}{\forall E \frac{\forall x C(x)}{(C(a))}}$$

$$\mathcal{A}_{\forall x C(x)} = \forall I \frac{\mathcal{A}_{C(a)} \quad C(a)}{\forall x C(x)}$$

The E-reduction rules include:

(A) proper E-reductions

(i) \rightarrow -E-red

$$\begin{array}{ccc}
 & [(A)] & \mathcal{D}_1 \\
 & \mathcal{D}_2 & (A) \\
 \xrightarrow{E} \frac{\mathcal{D}_1}{A} \frac{B}{A \rightarrow B} \xrightarrow{I} & \xrightarrow{E\text{-red}} & \frac{\mathcal{D}_2}{(B)}, \frac{\mathcal{D}_1}{(A)} \\
 & & \mathcal{A} \\
 & & A;B \\
 & & B
 \end{array}$$

(ii) \forall -E-red

$$\begin{array}{ccc}
 \mathcal{D}_1(a) & \mathcal{D}_1(t) \\
 \forall I \frac{\Lambda(a)}{\Lambda(x)} & (A(t)) \\
 \forall E \frac{\forall x A(x)}{A(t)} & \xrightarrow{E\text{-red}} \mathcal{A} \\
 & A(t)
 \end{array}$$

(B) improper E-reductions

Exactly like improper reductions in the usual sense.

We write $\mathcal{D} \succ_1^E \mathcal{D}'$: \mathcal{D} immediately E-reduces to \mathcal{D}' , and $\mathcal{D} \succ^E \mathcal{D}'$: \mathcal{D} E-reduces to \mathcal{D}' .

4. The rank of a formula Λ , $\rho(\Lambda)$, is defined by: $\rho(\Lambda) = \max \{ n : R_1^n \text{ occurs in } \Lambda \}$, = 0 if no R_1^n occurs in Λ . The rank of a derivation or E-derivation \mathcal{D} is defined by: $\rho(\mathcal{D}) = \max \{ \rho(A) : A \text{ is a (proper or improper) redundant formula in } \mathcal{D} \}$.

Lemma. For all formulae A and B ,

$$3 \leq \text{lh}(\mathcal{A}_B) < \text{lh}(\mathcal{A}_{A;B}) \leq 2 \text{lh}(B) + 3 \rho(B) + 4$$

Lemma. If $\mathcal{D} \succ_1^E \mathcal{D}'$, then $\text{lh}(\mathcal{D}) < \text{lh}(\mathcal{D}')$.

Theorem. Suppose that \mathcal{D} is an E-derivation such that if A is the conclusion of any \perp_c -inference, then $\text{lh}(A) \leq m$. Then there is an E-derivation \mathcal{D}' containing no im-

proper redundant formula such that $\mathcal{D} \succ^E \mathcal{D}'$ and $\text{lh}(\mathcal{D}') \leq 2^p \text{lh}(\mathcal{D}) + \frac{2^p - 1}{2^2 - 1}$, where $p = (m-1) \cdot 2(\text{lh}(\mathcal{D}) - 1)$.

The order of an E-derivation \mathcal{D} , $o(\mathcal{D})$, is defined by: $o(\mathcal{D}) = \max \{ \text{lh}(A) : A \text{ is a (proper or improper) redundant formula in } \mathcal{D} \}$, = 1 if \mathcal{D} is normal.

Theorem. For any E-derivation \mathcal{D} containing no improper redundant formula, there is a normal E-derivation \mathcal{D}' such that $\mathcal{D} \succ^E \mathcal{D}'$ and

$$\text{lh}(\mathcal{D}') \leq 2^{\frac{\text{lh}(\mathcal{D}) \cdot v(\mathcal{D}) + (o(\mathcal{D}) - 2) \cdot (v(\mathcal{D}) - 1)}{o(\mathcal{D}) - 1}}$$

where $v(\mathcal{D}) = \frac{2 o(\mathcal{D}) + 3 \rho(\mathcal{D}) + 3}{2}$.

Corollary. For any E-derivation \mathcal{D} there is a normal E-derivation \mathcal{D}' such that $\mathcal{D} \succ^E \mathcal{D}'$ and $\text{lh}(\mathcal{D}') < \frac{3 \max \{ \text{lh}(\mathcal{D}), o(\mathcal{D}), \rho(\mathcal{D}) \}^2}{o(\mathcal{D}) + 2}$.

Lemma. If $\mathcal{D} \succ_1^E \mathcal{D}_1$ and $\mathcal{D} \succ_1^E \mathcal{D}_2$, then there is an E-derivation \mathcal{D}' such that $\mathcal{D}_1 \succ_1^E \mathcal{D}'$ and $\mathcal{D}_2 \succ_1^E \mathcal{D}'$.

Theorem. For any E-derivation \mathcal{D} , all E-reduction sequences starting from \mathcal{D} are of length

$$< \frac{3 \max \{ \text{lh}(\mathcal{D}), o(\mathcal{D}), \rho(\mathcal{D}) \}^2}{o(\mathcal{D}) + 2}$$

5. An expansion of a derivation \mathcal{D} is an E-derivation \mathcal{D}' which differs from \mathcal{D} at most for containing a part

(1) \mathcal{F}	(1)
(B) , (A)	(B)
\mathcal{A} A;B	\mathcal{A} B
B	or B

in place of some occurrence of formula B.

Lemma. If $\mathcal{D} \succ_1 \mathcal{D}'$ and \mathcal{E} is an expansion of \mathcal{D} , then there is an expansion \mathcal{E}' of \mathcal{D}' such that $\mathcal{E} \succ^E \mathcal{E}'$.

Theorem. For any derivation \mathcal{D} , all reduction sequences starting from \mathcal{D} are of length

$$< 2^{3 \max \{ \text{lh}(\mathcal{D}), o(\mathcal{D}), q(\mathcal{D}) \} + 2}$$

References

- [1] R.O. Gandy, "Proofs of strong normalization", in: J.P.Seldin and J.R.Hindley (editors), To H.B. Curry. Essays on Combinatory Logic, Lambda Calculus and Formalism, London-New York (Academic Press) 1980, pp. 457-477.
- [2] J.-Y. Girard, Proof Theory and Logical Complexity, Naples (Bibliopolis) forthcoming.
- [3] G.E. Minc, "Primitive recursive estimate of strong normalization for predicate calculus", J.Sov. Math. 20 (1982), pp. 2334-2336.

- [4] D. Prawitz, "Validity and normalizability of proofs in 1st and 2nd order classical and intuitionistic logic", in: S.Bernini (editor), Atti del Congresso Nazionale di Logica, Montecatini Terme 1-5 ottobre 1979, Naples (Bibliopolis) 1981, pp. 11-36.
- [5] H. Schwichtenberg, "Complexity of normalization in the pure typed lambda-calculus", in: A.S.Troelstra and D.van Dalen (editors), The L.E.J. Brouwer Centenary Symposium, Amsterdam (North-Holland) 1982, pp. 453-457.